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' for the questlons ,
1. Choose the appropriate one: l><10=10

- () Which of the following is not considered as
' a penpheral dev1ce ? : ‘

(a) CPU

(b) Keyboard

(¢) Monitor |
(d) All of the above
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(ii) Which of the following allows simultaneous I (vi) Subtraction in computers is cartied out by

write and read ‘operations ? - , E : (a) 1’s complement
() ROM - (b) EROM- | - (0 2s complement
(c) RAM - '(d)’ Nong of the above - (¢) 3’s complement

(d) 9’s complement -

(iii) Which of the following format is_ used to .- : - .
| (vii) Which of the following memory unit

store data ? - .
" (2) Decimal (b) Octal - ‘communicates directly with the CPU ?
© BCD o @@ Hex%'ldeciﬂial (a) Auxiliary memory
' S - S ' ‘ (b) Main memory
(@iv) Which of the following memory of thé ‘ ] (c) Secondary -méfnory
computer is used to s'peedv.up the computer | (d) None of the above |
. pm_cessing? ' : .
(@) Cache memory (b) RAM (viii) The collection of 8-bits is called as
. (a) Byte Nibble
(© ROM (d) None of the above | (©) Word g; Record
(v) Computer address busis . - (ix) What does MIMD stand for ?
(a) Multidirectional s | | (a) Multiplé Iﬁstrﬁctibn Memory Data

(b) Multiple Instruction Multiple Data
(¢) Memory Instruction Multiple Data
(d) Memory Information Memory Data

(b) Bidirgctional
(¢) Unidirectional
~ (d) None of the above
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(x) RISC stands for
(a) Reduce Instruction Set C()rnputer
(b) Risk Instruction Sequentig]

oy : Compilation !
(¢) Risk Instruction Source'COmpiIer
(d) None of the above,
2. Answer any five questions - 2x5=10

(1) What is Instruction Set 9

(ii) What is a Paralle] Adder 9

(iii) What is Bus System of 3 Processoy

iv) What is Hit Ratio of

o , G & Cache Memgyy, 9
(v) What is Flynn’s Classiﬁcati(m 9

(vi) What is Flip-Flop ?

3. Answer any six questions :

(i) Write about I/P and o/p Chamell.
Carry Look Ahead Adder. Cristics of

(ii) What is Virtual Memory 9 DeS.Cribe.
(iii) What is the concept of Pipelinin

(iv) Design a (1:8) Demuhiplexer_
(v) Design a (3:8) Decoder.

(vi) What is the limitation qp
2 s Bl “Flon 2
How it can be Overcome 9 P-Flop 1

5x6=-_30

g? EXplain.

(vii)State and prove the De .Mol'gan’
' S Theorem.
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3x10=30

4. Answer any three questions :

- } ing
W) What is Mapping ? Write about all Mapp |

Technique of a Cache Memory: |
4k . using
(i) Reduce the following equation ]

R 15)
Y (AB,CD)=% (1,2:568101%

Unit.
({ii) Explain about Hardwired Control

(iv) What is Addressing ‘Mode ?
details,
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